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������ ������ �� ��� ��"����� �������
 ������ ��� ����� ��������� ��� �������!��
��������� �����#������ ��� �#������ ����� $
 �� %���������� ��� ����� ��"������
������� �������� ��� �������� ���� ��
 ������ ������


�� �������� �� ����������� �� &����� '
$
�
 ��� �#���������� ���� �� ��� �������������
�	 ����� 	��������  ��� ��������� ������� �� &��
 '
$
�� ����� ��� ���� �� ���������
��� ������� �	 ��� ����������
 ����� ��������� ������� ��� ���������� ���������� ��
��������� ��� �������������� ���� ��� ������� �� ��� ��������� �� � ����� 	�� 
(���
������������� ������������  
)��
 ���� �������� ��*�� ����� ������� ��� ���������(
���� ����� �	 ��� ����(������ �	 �� ��������� �������� ������� �� ��� ��������� �	 ���
�������� ���� ���� �� ��� ��������� ��������
 +�������, ���� �������� �������� ���
�����(��������� ����������� �	 ����������� ��� ������ hG �	 ���� �������� ������� �	
��� ���������


�� ��� 	�������� ���� ������� ���� 	���� �� ������ ��������� 
��  -�
���
 &��
-�
�� ��� 
(��� ���� �� ������������� �� ��� ����� ������, �
�
 ��� ����� ���������
�� ��� �� � ����� ����� �	 ����� �� ./◦
� 0� ��������� �����1������ 	�� ���	������
-�
�� ������������ �� ��� ����������� �� ���� ��� ������ ������ �� ���� ��� �����
���������
 ����, ����������� ��������� �� ���������
 �� ����� ��"����� ����� ������
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�� �� ����� ���� ������� �	 ������ ��� ������ ������ �������� ��� ����� �������
������ ��� 
(��� ���� ��������� ������� �� ��� ���� �"��� �	 ���������� ��� �����
���������
 �� ���� ��� ��� ���� �������	�� 
�� ������������ ���� ������� ���
 ��
���� ���� ��� ����� ��������� �� ��� �� �� �"(������ ����� ��� ���� ���������� 
(���

��� ������� hG + n · dG 	n ∈ N
 ��� ��� ����
����� ������ �� �� ����
���� ������ �������� ���
�������� ����� n · dG�
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�����	�� ��� �������� /��������� �� ��� (��

 ������0 �� �����	��� 1��

���	��� �� ���� �������� �� ��� ��
��
���� �� ��� ���������� �� ��� �������
 �����
����2 - ��������� ���� ���� 
������ ���� ��� ����
� �� ��� ������� ��� ��� ���� ���
��
�� � ���� 
�������
 ���� �� ���������� �������� �� ��� �������� 3�������� ���� ����
/
��������0 ���� ��� ��������� �����  ���� �������� ���������
 ������ ��� ��
�����
�
 �� ����������� �� ��� ����������	 �
���
 �� �����
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���������� �� ���

�,������� �� ��� �������� %����� ���� ������ ��� ��������� �� ��� ���� ���
 �� � �������
���
�� hG ��
 �� �� ����
� E ��2

I��G (hG, E) = 1 + R (E) + 2 ·
√

R (E) · cos
(

ν (E) − 2π
hG

dG

)
�'���

I��G "�������� �� ��� �����
��
� ���� ���
 �%&� �������4�
 	� ���
��������� �� ��� ����
��� 	��� ���� &�
� '���	�

R (E) 5�6�������� ���� &�
� '�����
ν (E) 7���� 	������ ��� ����
��� ��
 ��6����
 	��� ���� &�
� '������

 �� ��6�������� ��
 ��� ����� ��� 	� ��������
 ���� ��� ����� �� ��� �������� ���
�2

EG (E)

E0 (E)
=

√
R (E) · eiν(E) �'�'�

EG 8������� ���
 �� ��� ���� ��6����
 �� ��� (��

 ������
����������4�
 	� 9

E0 8������� ���
 �� ��� ����
��� �����

-� ��� ��6�������� ������������ * �����
� ��� (��

 ���
����� �&�
� '����� ��� ���+
����4�
 ��������� �� ��� ���� ���
 ������������ � �8������� '���� "� ����� ���
�2
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�� ����!�� �� �� �
���
������ �� ��� ��������
�
�� �����$ ���� ��� ��������� %�
��& ��
��� '() ����� *�����
$ '() !����
�� ��� ������ �� ���
� ���!��� %�� ��� ��!� 
��!�
�
�� ���
���& ���� ��� %�
������ ��
����& ������ hG,i� "�� '() ��������� �� � ������
���
�� E ������ ���� �� �
���
������ �� ��� ��! �� ��� ����������� I��G (hG,i, E) ��
��� ���!��� ��������� hG,i+

I���G (E) ∝
∑

i

I��G (hG,i, E) %��,&

I���G (E) ��������� �� �� '() 
�
� ����� ���� !����
�� �� ��� ������
���
�� E

I��G (hG,i, E) ��������� �� ��� �������� ���� ���� �� ��� �������� �� ���!��� i
%
�� ��� �� &�

"�� ��! �� ��� ������
!� �� �������� ��, %
�� �������� �� & 
��������� ��� ��!�
��
����� ν ��� ��#�
��� ������ 2π · hG,i/dG 
������ �� � ������
! ���� � ��� ����� h̄G

��� � ��� �!������� FG� "�� '() ������ �� ���� �
���
������ ��+

I���G (E) ∝ 1 + R (E) + 2 ·
√

R (E) · FG · cos
(
ν (E) − 2πPG

)
%��-&

FG .���
��� �
�
����
PG .���
��� ��������+ PG = h̄G/dG�
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SR ���� ����
|SI | ����� �����
Ψ ������ ������

�	 	!�	� "�#	 
$%&� '	 �'���'	� $
 � �$(	�	
� "�) �&�
 �&	 $
!$�	
� "�#	� *&	�	
�	#$��$�
� ��	 �!!��
�	� ��� �� +��������	 ����
	�	�� SR �
� SI �&�� ��	 $
!���	�
$
 ,+���$�
 ��� $
 �&	 �����"$
% "�)-

I���G (E) ∝ 1 + R (E) · SR + 2 ·
√

R (E) · |SI | · FG · cos
(
ν (E) − 2πPG + Ψ

)
�����

SI = |SI | · eiΨ

*&	 ����
	�	� SI $� � !�
��	. 
�
'	� "$�& �'�����	 #���	 |SI | �
� �&��	 Ψ� /� $�

��	� �&�� �
��&	� ����
	��$0��$�
 �� �&	�	 
�
��$����� !�
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